Mathematics

(Chapter - 2) (Fractions and Decimals) (Exercise 2.1)
(Class - VII)

Question 1:
Which of the drawings (a) to (d) show:

(ii) 2% (b)

(iii) 3x= (C)!:! """ """ """

3

it @ () %
/ ‘q."l’ ‘!‘fr* \

Answer 1:

-----------

: . 1 1 1
(l) - [d) Since 2)(5 :§+§
¥ ; 11 1
(ii) - (b) Since 2><§ =+
| 2 2.3 3
[lll)-(a) Since 3)(3:3 : 3_|_5
: . 1 1 1 1
(IV] = (C) Sll’lce 3)(2 :Z+Z+Z

Question 2:

Some pictures (a) to (c) are given below. Tell which of them show:

i ()

------------------------------------------------

Answer 2:
I 1 1 1
1) - (c Since 3x—=—+—1
(i) - (c) A
1 1 1
ii) - (a Since 2x—=—+—
(ii) - (a) ok
=) Since Bxt=lrds

4 4 4 4




Question 3:
Multiply and reduce to lowest form and convert into a mixed fraction:

'T;
1 T x —
(i) z
() 4x2
3
6
iii) 2x—
(iii) =
2
iv 5x—
(iv) 9
2
% —x4
(v) 3
5
vi —x6
(vi) -
4
vii) 11x—
(vii) .
(viii) 20x 2
5
(ix) 13x-
3
3
X 15%x—
(x) :
Answer 3:
N o e Al gt
5 5 5 5
(ii) 4x]_=ﬂ=i=ll
3 3 3 3
(i) 2x2 =220 o242
7 7 7 7
5
Gv) s5x==222.20_,1
9 9 9 9
(v) 2424 _8_,2
3 3 3 3

(vi) —x6 =35%x3=15

vil) llx—= = = — =6=—

(vii 7 7 7 7

(viii) 20x§ =4x4=16

(ix) 13xs =20 D_y1
3 3 3 3
3

x) 15x=>=3x3=9




Question 4:

Shade:
00 O
(i) ;— of the circles in box (a) 8 8 8
SREY G
, BA A
(ii) 3 of the triangles in box b)) |A A A
‘ AAA
y Ooo0OC
(iii) 5 of the squares inbox (c) |O 0O |
L3 L] | |
Answer 4:
00
l l 00
(i) — of 12 circles = —x12 =6 circles O0O0
2 2 O0O0
: ' AAA
(ii) 3 of 9 triangles = -§><9 = 2 X 3 = 6 triangles A A A
' AAA
3 3
(iii) N of 15 squares = §x15 3 x 3 =9 squares

Question 5:

Find:
(a) % of (i) 24 (ii) 46
(b) %— of (i) 18 (ii) 27
3 . .
(c) i of (i) 16 (ii) 36
4 : ”
(d) 5 of (i) 20 (ii) 35
Answer 5:
(a)(i) %- of 24 = 12 (ii) ;— of 46 == 23
g 2 2 . 2 2
(b)(i) §0f18=§x]8=2x6=12 (ii) ;0f27=5x27=2x9=18
x 3 3 . 3 3
(c)(i) —ofl16=—x16=3x4=12 (ii) — of 36 = —x36 =3x9 =27
4 4 4 4
L 4 4 . 4 4
(d)[l]§0f20: gxz()=4x4=16 (ll) "S—Of35:"§><35:4}(7=28




Question 6:
Multiply and express as a mixed fraction:

1 1

(a) 3x5- (d) 4x6
(b) 5x6° (e) 316
% 4
(c) Tx2~ (0 328
4 5
Answer 6:
(a) 3><51—3><-a5-:3}{26 /8 15§

5 3 S 5 5

2 2
4 4 4 4 T4

(c) 7x21—7x2 7K9 63 3
4 4 4 4 T4

(d) 4><6~]—=4><:19—4K19—76—25~1-
3 3 3 3 3

(e) 31}":6:9}‘:6— e -:2219l
4 4 2 2 2

(f) 32x8_1—7x8—17><8—=136—271

S S S 2 5

Question 7:

Find:
| 3 5
a) — of i) 2= ii) 4=
(a) 5 (i) 7 (ii) :
3 5 5
b) = of i) 32 ii) 9=
( )8 (i) 7 (ii) :
Answer 7:
(3) (l) ]— of ZE = leE = lxﬂ. .1_1—12
2 T4 274 274 8 8
0 lofa e lyglaly38. 09 4]
2 0 2 9 2 9O 0 0

(b) (i) §0f3-§=§-><3-§=5 23 E_zﬁ
§ 6 8 6 8 6 48 48

(ii) §0f92=g><92 5 29 14S=6L
8 3 8 3 8 3 24 24




Question 8:

Vidya and Pratap went for a picnic. Their mother gave them a water bottle that contained 5 litres of

. 2 -
water. Vidya consumed — of the water. Pratap consumed the remaining water.

5
(i) How much water did Vidya drink?
(ii) What fraction of the total quantity of water did Pratap drink?

Answer 8:
Given: Total quantity of water in bottle = 5 litres

(i) Vidya consumed= §= of 5 litres = E X 5 = 2 litres

Thus, Vidya drank 2 litres water from the bottle.

(ii) Pratap consumed = (— E) part of bottle =5 — -ﬁ- = %part of bottle

Pratap consumed > of 5 litres water = gx 5 =3 litres

D D

Thus, Pratap drank - part of the total quantity of water.

S




Mathematics

(Chapter - 2) (Fractions and Decimals) (Exercise 2.2)

(Class - VII)

Question 1:
Find:
| l 3
i — of a) — b) -
(i) 1 (a) y (b) 5
l 2 6
ii — of a) — b) —
(ii) : (a) 5 (b) .
Answer 1
1 1 1 1 1x]1 1
! d _Uf—:— _—= —_—
1) () 4 4 4x4 4x4 16
3 ] 3 3
(b) e les B 2
4 S 4 4 4x4 16
(c) 1 ed_14_1x4 1
4 3 4 3 4x3 3
1 2 1 2 1x2 2
ii a — 0f — = =x—= —
m () 7 9 7 9 7x9 63
(b) Lofg:lxé=l>(6 6
7 9 7 5 7x5 35
(0) Lofg:lei:lxi’,:i
7 9 7 10 7x10 70
Question 2:
Multiply and reduce to lowest form (if possible):
2 .19
| —x 2 —
(i) oy
- 2 7
ii — X —
(1) 73
3 G
il — % —
(i) g8 4
. 9 3
v -
(iv) —r
1 15
Y X
(v) T e
; 11 3
vi
ST
i 4 |2
vii X
(vii) 5 7
Answer 2:
2 2 2 8 2x8 16 .7

(l] —_—X— = —= — =1—
3 3 3 3 3x3 9 9

2 T 2x7 2

_x_:

7 9 T7x9 9

... 3 6 3x6 3x3 9
(iii) —x—= = =
8 4 8x4 8x2 16

. O 3 9x3 27 2
(iv) X — = = —=]—
5 5§ 5%5 259 25

(i1)

(c)

(¢) 10




1 15 _1xI5 _1x5_5

3 8 3x8 1Ix8 8

~ 11 3 113 33 3
(vi) —x—= =—=]—
2 10 2x10 20 20

4 12 4x12 48 13
(vii) - =1
5 7 5x7 35 35

(V)

Question 3:

Multiply the following fractions:
: 2 ]
1) —x5-

1) 5 4

.. 2 7
11 0 ——
(ii) %"

N 1
ili) —x5-—
()2 3

) 5 3
iIv) —x2—
(iv) 6 7

(v) 3—x-—

(vi) 22x3

o 4 3
vil 3—x—
() 7T 5

Answer3:

. 2 1 2 21 2x21 1x%x21 21 1
(i) —X5—=—x—= = =
5 4 5 4 Sx4 SBHx2 10 10

- 2 7 32 7 32x7 224 44
(ll) 6 o —_—= ___4_
5 9 5 9 5x9 45 45

(iii) Ex51=3 i 48 =%
2737273 6
(iv) E E 5 17 85 _2L
6 7 6 7 42 42
(v) 3 xi gxi e —]*3—3-
7 7 7 35 35

2
§ ;
D RE N A
5
4
?

5 1 Sxl 5 5
3 25 3 5x3 15_1

(vii) 3—x—=—x—= =2—
S 7 5 TIx1 7 7

Question 4:

Which is greater:

0 = of > o> of >
7 %7 % s %%




Answer 4:
: 2 3 3 5
(i) — of — or — of —
7 4 5 8

z 3 3 5 3 3 3
—=> —X—0r—Xx-— =5 — or — = — < =
7 4 5 8 14 8 14
3 .3,
Thus, — of = is greater.
5 8
2 3
(ii) L. r:::nlrE or — of —
2 7 3 7
b rxlartie? = 2.2 P -
2 7 3 7 7 7 7
Thus, LY of . is greater.
2 7
Question 5:
Saili plants 4 saplings in a row in her garden. The distance between two adjacent saplings is % m. Find
the distance between the first and the last sapling.
Answer 5:
The distance between two adjacent saplings = % m
Saili planted 4 saplings in a row, then number of gap in saplings = 3
<% £  <* * -
~-g g ¢ 4@
. S . .
- 49  * < *
Therefore,
The distance between the first and the last saplings = 3 x % = % m = 2% m
Thus the distance between the first and the last saplings is 2-}1 m.
Question 6:
Lipika reads a book for l% hours everyday. She reads the entire book in 6 days. How many hours in all
were required by her to read the book?
Answer 6:
Time taken by Lipika to read a book = l% hours.
She reads entire book in 6 days.
Now, total hours taken by her to read the entire book = l%x 6 = %x b= % = 10% hours

Thus, 10 hours were required by her to read the book.




Question 7:

3

A car runs 16 km using 1 litre of petrol. How much distance will it cover using 2 — litres of petrol?

Answer 7:

In 1 litre of petrol, car covers the distance = 16 km

3

3

In 2— litres of petrol, car covers the distance = 2— of 16 km

4

Thus, the car will cover 44 km distance.

Question 8:

(a) (i) Provide the number in the box

(ii) The simplest form of the number obtained in

(b) (i) Provide the number in the box [

(ii) The simplest form of the number obtained in

Answer 8:
. 2 |5 10 "
a) (i —X|—]=— i
(a) (i) N T (ii)
3 |8 24
b) (i —X|—|=— 1
(b) (i) P b (ii)

4

= E>f::llf:a = 44 km
4

, such that Ex :E.
3 30
S
.
, such that Ex :“—4.
5 75
1S
; 5 . 1
The simplest form of — is —.
10 2

3 8

The simplest form of — is —.

15 15

4




Mathematics

(Chapter - 2) (Fractions and Decimals) (Exercise 2.3)
(Class - VII)

Question 1:

Find:
3
i g
(1) 2
5
11 14 =
(ii) -
. 7
iii $i—
(1ii) ;
8
v s I
(iv) :
]
V 32—
(v) 3
4
vi 5+3—
(vi) -
Answer 1:
(i) 12+E = I2;~<i =16
4 3
(ii) 14+E = ]4x§_84_16i
6 5 3 5
"
(N Bel =pxo=Poys
3 7 7
'.;
[IV) +§=4KL:-§-:].1.
3 8 2 2
(V) 3+2l= +z=3}(§=2=1%
3 3 T 7 7
(vi) 5—3i:5+g—5-=5xl.=z=1%
7 7 25 5 5

Question 2:
Find the reciprocal of each of the following fractions. Classify the reciprocals as proper fraction,
improper fractions and whole numbers.

: 3
(i) 7
- 5
(ii) P
9
(iii) -
; 6
(iv) 5

|2

(v) )
1
3

1

g —
< <
[ K1 ]
_— ==y
o
—
[S——




Answer 2:

3 7
i) Reciprocal of —
(i) p : :
5 8
1i) Reciprocal of = .
(ii) p k-
0 7
iii) Reciprocal of — 5
(iii) p Sl
6 5
iv) Reciprocal of N - B
(iv) p g <5
12 s
v) Reciprocal of =
(v) p = 3
(vi) Reciprocal of é = 8
. 1
(vii) Reciprocal of T 11
Question 3:
Find:
-
i .
(i) :
4
11 -
(ii) -
6
iii —t7
(iii) =
(iv) 4-+3
-
(v) 31L4
5t
3
Vi ="
(vi) -
Answer 3
(l) Z+2=z><l=7><1 z:ll
3 3 2 3x2 6 6
) Cegates X%
0 O 5 9x5 45
(ili] £+7: 6 )(1: 6>(1 :E
13 13 7 13x7 O]
(lV] 4l+3=E-—:—3:I3}(1_—_E:
3 3 3 3 9
2 2 2 4 8
(vi) 4§+7=E+7:31x1:£
7 Vi 7 7 49

—> Improper fraction
— Improper fraction
—> Proper fraction
—— Proper fraction

— Proper fraction

— Whole number

—> Whole number

4

=

5




Question 4:

Find:
)
(i) 2.0
5 2
g 4 2
11 ==
(ii) a3
3 8
111 R -
(i) T
1 3
iv o Bt o
(V) 3 3
1 8
v 3— -
(v) a3
2 1
Vi =]
(vi) =L
1 2
Vil 3wl
(vii) e
] |
viii i iy [Pl
Ll 5 5
Answer 4:
@ 2.1.2.2_2x2_4
52 51 5x1 5
[ii] 422:4::(3:2
9 3 9 2 3
(i) 2+2oZel=2
7 7 7 8 8
(IV] 2l+§:2+§=1x§=£= §
35 35 3 3 9 0
(V] 31—-§:—7-_*§=Z>{§_7x3_21__15
23 23 28 2x8 16 16
: 2 <1 2. 3 2 2 2x2 ¢
(vi) R I ol o S _=
5 2 5 2 5 3 5x3 15
(vii) 31.12-16.5_16 3_16x3_48 23
5 3 5 3 5 5 5x5 25 25
(viii) 21+ll=“+6:“x5:£:]§
5 5 5 5 5 6 6 6




Mathematics

(Chapter - 2) (Fractions and Decimals) (Exercise 2.4)

(Class - VII)
Question 1:
Find:
(i) 0.2X6
(ii) 8Xx4.6
(iii) 2.71 X5
(iv) 20.1x4
(V) 0.05 X7

(vi) 211.02X%x 4
(vii) 2 x0.86
Answer 1:
(i) 0.2X6=1.2
(ii) 8 X 4.6 = 36.8
(iii) 2.71 x5 =13.55
(iv) 20.1 x4 =804
(v) 0.05 X7 = 0.35
(vi) 211.02 x4 = 844.08
(vii) 2Xx0.86 =1.72

Question 2:
Find the area of rectangle whose length is 5.7 cm and breadth is 3 cm.

Answer 2:
Given: Length of rectangle = 5.7 cm and

Breadth of rectangle = 3 cm
Area of rectangle = Length x Breadth =5.7 X 3 = 17.1 cm?

Thus, the area of rectangle is 17.1 cm>.

Question 3:

Find:

(i) 1.3 X 10
(ii) 36.8 x 10
(iii) 153.7 X 10
(iv) 168.07 X 10
(v) 31.1 x 100
(vi) 156.1 X 100
(vii) 3.62x100
(viii) 43.07 x 100
(ix) 0.5 x 10

(x) 0.08 x 10
(xi) 0.9 x 100
(xii) 0.03 x 1000

Answer 3:
(1) 1.3 x10=13.0
(ii) 36.8 X 10 = 368.0




(iii)  153.7 x 10 = 1537.0
(iv)  168.07 x 10 = 1680.7
(v)  31.1x 100 =3110.0
(vi)  156.1 x 100 = 15610.0
(vii)  3.62 x 100 = 362.0
(viii) 43.07 x 100 = 4307.0
(ix) 0.5%10=5.0

(x)  0.08x 10 = 0.80

(xi) 0.9 X 100 = 90.0

(xii)  0.03 x 1000 = 30.0

Question 4:
A two-wheeler covers a distance of 55.3 km in one litre of petrol. How much distance will it cover in
10 litres of petrol?

Answer 4:
In one litre, a two-wheeler covers a distance = 55.3 km

In 10 litres, a two- wheeler covers a distance =55.3 X 10 = 553.0 km

Thus, 553 km distance will be covered by it in 10 litres of petrol.

Question 5:

Find:

(i) 2.5% 0.3
(ii) 0.1 x51.7
(iii) 0.2 x 316.8
(iv) 13x3.1

(v) 0.5x0.05
(vi) 11.2x0.15
(vii) 1.07 X 0.02
(viii) 10.05 x 1.05
(ix) 101.01 x 0.01
(x) 100.01 x 1.1

Answer 5:
(i) 2.5x 0.3 =0.75

(ii) 0.1x51.7 =5.17

(iii) 0.2 X 316.8 = 63.36
(iv) 1.3 x 3.1 = 4.03

(v) 0.5x 0.05 = 0.025

(vi) 11.2 x 0.15 = 1.680
(vii) 1.07 x 0.02 = 0.0214
(viii) 10.05 x 1.05 = 10.5525
(ix) 101.01 x 0.01 = 1.0101
(x) 100.01x 1.1 = 110.11




Mathematics

(Chapter - 2) (Fractions and Decimals) (Exercise 2.5)
(Class - VII)

Question 1:
Find:
(i) 04+2
(i) 035+5
(iii) 248 + 4
(iv) 654 + 6
(v) 6512 +4
(vi) 14.49 =7
(vii) 3.96 + 4
(viii) 0.80 + 5
Answer 1:
(i) 04-2="2x1-2_02
10 2 10
(i) 035+5= 2xi=— =007
100 5 100
(i) 248 +4=29,1_02 462
100 4 100
(iv) 654+6=22x1_19_499
10 6 10
2. 1 2
(v) 6512 +4-= N X i =162.8
10 4 10
(vi) 1449+ 7=29 1 _207 507
100 7 100
(vii) 396+ 4=22x1- _g99
100 4 100
(viii) 0.80 + 5= 2 x1-18 _p16
100 5 100
Question 2:
Find:
(i) 4.8 =10 (i) 525 = 10
(iv) 33.1 + 10 (v) 27223 + 10
(vii) 3.97 = 10
Answer 2:
() 48-:10= 25048 (i) 525+ 10= 222 =525
10 10
Gii) 0.7 = 10= 2/ =0.07 (iv) 33.1:10=>>1 =331
10 10
(V] 27223 « 10=2""2 _97373 [} 0.56.+10= 220 = 0,056
10 10
97
(vii) 3.97 : 10= 22" =0.397

10

(iii)
(vi)

0.7 = 10
0.56 - 10




Question 3:

Find:

(i) 2.7 + 100
(ii) 0.3 =100
(iii) 0.78 = 100
(iv) 432.6 =~ 100
(v) 23.6 =100
(vi) 98.53 + 100

Answer 3:
2 ] 2
(i) 2.7 - 100 = 7>< ot g 0.027
10 100 1000
1
(ii) 0.3 +100= ) X . 0.003
10 100 1000
1
(ii1) 0.78 + 100 = L X - =0.0078
100 100 10000
(iv) 432.6 - 100 = 4326>< i . =4.326
10 100 1000
(V) 23.6 - 100= 0% =29 _g236
10 100 1000
(vi) 9853 » 100 = 2o22x 1 -2 (9g53
100 100 10000
Question 4:
Find:
(i) 7.9 = 1000
(ii) 26.3 + 1000
(iii) 38.53 =+ 1000
(iv) 128.9 = 1000
(v) 0.5 = 1000
Answer 4:
1 9
() 79-:1000=2x—=_" 00079
10 1000 10000
: 2 1
(ii) 26.3 = 1000 = L A3 =(0.0263

X —
10 1000 10000
3853 y 1 3853

(iii) 38.53 = 1000 = = = 0.03853
100 1000 100000

(iv) 1289 :1000= =2, 1 _ 1289 1989
10 1000 10000

(v) 05 :1000= 2x——=—>_ =0.0005

10 1000 10000




Question 5:

Find:

(i) 7 = 3.5

(ii) 36 ~ 0.2
(iii) 3.25 + 0.5
(iv) 30.94 = 0.7
(v) 0.5 =+ 0.25
(vi) 7.75 + 0.25
(vii) 765 = 0.15
(viii) 378 + 1.4
(ix) 2.73 = 1.3

Answer 5:
3
(i) 7+3.5=7+-—5~:7><~l—0~:19=2
10 35 5
.. 2 10
(ii) 36 0.2 = 36+E=36XE= 18x10=180

325 5 325 10_65 _

100 10 100 5 10
3094 7 _3094 10 _442
100 10 100 7 10

5.25_5 100_10
0 100 10 25 5

775 .25 _775 100 _ .
100 100 100 25

765 15 _765x@ =51x10=510

0 100 10 15

14 378 |
(vili) 378 + 14=220.14_35 10 57
10 10 10 14

(ix) 573 .13 = 273 : 13_273}(10_21 o
100 10 100 13 10

(iii) 3.25 = 0.5 = 6.5

(iv) 30.94 = 0.7 = =442

(v) 0.5 + 0.25 = =2

(vi) 7.75 = 0.25 =

(vii) 765 = 0.15=

Zil

Question 6:
A vehicle covers a distance of 43.2 km in 2.4 litres of petrol. How much distance will it cover in one litre

petrol?
Answer 6:
.- In 2.4 litres of petrol, distance covered by the vehicle =43.2 km
. In 1 litre of petrol, distance covered by the vehicle

=432 + 2.4
_ 432 24 _ 432 24

10 10 10 10
=18 km

Thus, it covered 18 km distance in one litre of petrol.




